KJ04505 87-96 YJ Jeep Wrangler 1” Body Lift Installation Instructions

Before beginning read all instructions and check Bill of Materials

Bill Of Material

S10125

Washer 1/2"

S10012

Steel Sleeve

510385

Washer 7/16"

M02285

Bushing

S10192

Bolt 1/2-13X4.5Hex

M02350

Bushing

510350

Bolt 7/16-14X3.5Hex

(o |0 |o

M02351

Bushing

M02905

Bushing

S10281

Steel Tubing

M02907

Bushing

510504

Bolt 1/4-20X3/4Hex

M02908

Bushing

S10505

Nut 1/4-20 Hex

M03250

Radiator Support

N Mok |d]|o |k |-

S10506

Washer 1/4"

H©ooN

PLASTIC RADIATOR FAN SHROUD: The fan will hit the lower portion of the fan shroud.
Before starting installation, Remove the 4 screws that hold the fan shroud to the radiator
allowing the fan shroud to be lowered once body lift is completed. Make sure fan is clear of fan
shroud before beginning. See instruction No. 12.

Loosen body mount bolts on one side of vehicle and remove bolts from opposite side using a
5/8" socket for positions 1,5 and 6 (ref. Fig.1 on page 2) and a %" socket for positions 2, 3 and
4. Use a long extension to remove mounts next to gas tank. Place 2x4 between jack and body
to spread out load and jack up body on the side you have removed the bolts from just far
enough to remove mounts. The bolts on the opposite side will help ensure that the body does
not shift. CAUTION: Open Hood while jacking up the body to make sure that the fan doesn't hit
the shroud. Also, watch that hoses and wires are not stretched. The dip-stick head can be
pinched so remove dipstick while doing installation. When lifting the side of the vehicle that the
fuel filler is on, keep a close eye not to stretch, tear or pull too far on the hose connection.)
Remove factory mounts one at a time and remove stock steel insert. View A.

Insert stock steel inserts inside top portion of body lift spacer in positions 2-6. (Note:If it fits tight,
you may have to use a vise.) See View B.

Insert 7/8” OD x 1" long tube (Part No S10281 Included in kit) into lower portion of body lift
spacer in positions 2-6 and insert steel sleeve (Part No. S10012 Included in kit) in position #1.
(This tube/sleeve is a crush sleeve to eliminate over-torque of polyurethane mounts)

Jack up the body using a 2x4 under one side of the body for support just high enough to insert
new body lift spacers. If the steel collar on new mounts will not insert in frame holes, you may
have to file out frame mount hole slightly to install spacer. Repeat on opposite side. See View C.
Lower the body down on the new mounts and replace bolts but do not tighten completely. See View E.

Now remove bolts from other side of vehicle and repeat instructions 3 through 6.

Once all new mounts are in place, you may re-torque all bolts to factory specs. Do not over tighten bolts.

PLASTIC RADIATOR FAN SHROUD: Drill holes large enough for new %" bolts 1” lower than original hole in the radiator bracket that shroud
bolts to and re-bolt shroud using the 4 new %" bolts, nuts and washers provided in the kit. Make sure fan clears lower portion of fan shroud. It
may be necessary to trim fan shroud around lower radiator hose. You may also install Daystar part no. KJ01005: 1" Lifted Motor Mounts.
Remove the radiator supports on each side and Install the new supports.

Before starting engine, check fan for clearance of all lines and wires to make sure they are free and clear.




FRONT

J J
BODY
i I
—— MD2905
J?E 13%—-— FRAME
] - WM02285
> WASHER

>

POSITION 9

| L
BODY
7 7
- MO2907
@7%«— ERAME
] —— MO2350
< - WASHER

%@SHTH@N 253,4

TL TL BODY
—— M02908
: -~ FRAME
1 1
~— M02351
Jr WASHER
POSITION 5, ¢


http://www.carid.com/daystar/
http://www.carid.com/suspension-systems.html

